
第６回ウイスキー検定解答　１級

1級 答え 1級 答え 1級 答え 1級 答え 1級 答え

1 1 21 4 41 3 61 3 81 Tay

2 4 22 1 42 1 62 2 82 フェリントッシュ

3 3 23 3 43 2 63 3 83 ロバート・(ザ・)ブルース

4 4 24 5 44 3 64 5 84 アウター・ヘブリディーズ

5 3 25 4 45 4 65 4 85 BOWMORE

6 1 26 1 46 1 66 5 86 フープ

7 3 27 3 47 4 67 1 87 63

8 3 28 4 48 3 68 2 88 ラメジャー

9 3 29 2 49 5 69 5 89 クエルクス・アルバ

10 2 30 5 50 4 70 3 90 Jameson

11 5 31 5 51 4 71 2 91 カネマラ

12 5 32 2 52 5 72 5 92 ホセ・(カーサ・)クエルボ

13 3 33 3 53 2 73 5 93 マウント・バーノン

14 5 34 3 54 2 74 2 94 Canadian Club

15 5 35 5 55 3 75 2 95 1866

16 5 36 5 56 1 76 4 96 阿部喜兵衛

17 3 37 4 57 5 77 5 97 大日本果汁株式会社

18 1 38 5 58 5 78 3 98 福島県郡山市

19 5 39 4 59 3 79 3 99 株式会社三宅製作所

20 4 40 5 60 2 80 5 100 フォーサイス


